SIAHHAE 20094
Glae £ 18
(=] .

3 A Y ZUUAEMAILSL S A el dE)
O = abon A ofl &ty =2 T
= 1,800,000 1,800,000 0
SXS XD 1,800,000 1,800,000 0
SSHO =T - MG e 1,800,000 1,800,000 0
SSon = =S (SLAZM 449,813 409,113 40,700
MQiE T BRI2Y o AME B 449,813 409,113 40,700
301 YsrE AR 40,700 0 40,700
40,700 0 40,700{ 10 BAIAHI 2 A 40,700
[ 2¥22X XX 28t
400,0008 * 80% * 13| = 32,000
[ AQCIT 2R (XS, QX)SSR SA
7,008 * 1002 * 13| = 700
0 atele S OHI2A
80,0008 * 5% * 22 08| = 8,000
ERCECICEERERIEEEE | 350, 187 | 390,887 740,700
ArRITEX] Ol bl 1,350,187 1,390,887 ~40,700
801 0|t 1,350,187 1,390,887 £40,700
1,350, 187 1,390,887 £40,700| 01 oI Yl £40,700
] ot
271,350, 187,0008 - JI& 1,390,867,0008 = £40,700




